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Fill in the blanks         

1. The simplest way to prevent plagiarism is_____________.  

2. ______________ is a term referring to the legal property rights of a person over his or her creations of 

mind, artistic and commercial.  

3. In Python, the conditional statement is terminated with a ____________ symbol.  

4. The ____________ operator is used to concatenate or join two or more strings.  

5. A ____________ is an effective way to organize and summarize data in a printed form. 

Write T for True and F for the False statement 

1. To specify the multiple criteria, the 'Or' property is used.  

2. A relationship works by matching a field with the same name in two tables.  

3. Unary operators can be used on more than three operands.  

4. The if..elif...else statement is used when you need to evaluate only one condition.  

5. Spams are unwanted bulk emails that come from strange sources. 

Choose the correct option.  

1. A ___________ is a legal right granted by the law to the creator for his original work.  

2. How many views does access provide to display a form? 

3. If the condition in a loop is false in the first step itself, you get ____________.  

4. An iterative statement is also known as a _______________ statement.  

5. Which key defines a relationship between the two tables?  

Answer the following questions   

1. Define Query. Name the different types of query. 
2. Differentiate between a form and a query. 
3. Define criteria. How many types of query criteria can apply. 
4. Distinguish between for and while loop. 
5. What do you mean by iterative statements? Give an example. 
6. State the use of membership operators in Python. 
7. Define plagiarism. 
8. Write a short note on. 

a. Digital footprint. 
b. Spamming 
c. Crackers 
d. Phishing 

QP Pattern 
A. Fill in the blanks         (1Mx7=7M) 
B. Write T for True and F for the False statement. (1Mx7=7M) 
C. Choose the correct option. (8Mx1=8M) 
D. Answer the following questions  (6x3M=18M) 


